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KinectASploit

What if you took a

?

Kinect

KINECT







ectASploit

00 E———eere o | pobile] CERED

starting nnap U, 2, 54BETA2S :

Insufficient responses for TCP sequencing (3), 0S detection may be 1ess
accurate

Interesting ports on 10,2,2,2: _

(The 1539 ports scanned but not shown below are in state: closed)

Port State Service

22/tcp open ssh

No exact 05 matches for host

Nnap run conpleted -- 1 IP address (1 host up) scanneds
# sshnuke 10,2,2,2 -rootpu="Z10N0101"

Connecting to 10,2,2,2:ssh ,,. successful,

Attempting to exploit SSHu1 CRC32 ... successful,
Reseting root password to “Z10NO101",

Systen open: Access Level )

# ssh 10,2,2,2 -1 root

root@0.2.2,2's passuord:

.
S 5 GO0 00 — — b b Lo

e e

m ooe CANTROL) disable qrid nodes 21 - 48




[*—3 Lamp | |

Plane |

B0
o) CEREEY () 23

300 +) [Level Tap | [ mert |
——

if nb_][ scannmg 1t
if msf is done scanning
i

password:‘ abcl23'

ilrpc.client. SPrvamxy("h[tp //1ocalhost:55553/RPC2")
au(h =msf.auth.login(user,password)
token= auth["token"]
ret=msf. ji Lst(tok;n)
if len(ret['jobs'])>0:

for ]ub in ret('jobs' ] values():
re.search('scanner', job
for x in range(1, 10)
newobj=sce.add0bject ("nmapPing", "player",258)
newob] .applyMovement ( (random.uniform(-2,2),2,2),
newob) . setLinearVelocity( (random. umnm( b} ,20)
newob] . setAngularVelocity({random.uniform(- 20 20/

heck for new hos(s/uclms
ms(s(to en,'')

fnr hns( in rP([ hos[s‘]
print(host['name'],host['address'])
newobj=sce. addob]nu(“cmpu(ﬂranx“ "hostEmit",0)
newob] .applyMovement ( (random.uniform(-1,1),0 0) False)
newob) . setLinearVelocity( (random. uniform(-3,3), randon. un

#enable contirols for more scanning.
obj['scanning' J=False

Vi et et ommet [Fl sy [5]32)

P Delta Transform
P Transform Locks
¥ Relations

Add to Group .
Y Display



nd out!

hOwnlabs.com
Use @ your own risk
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